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SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2020
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GEOGRAPHY Cool-off time : 15 Minutes
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(Map Accompanied)
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General Instructions to Candidates :
e Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.
e Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
e Read questions carefully before answering.
e Read the instructions carefully.
e Malayalam version of the questions is also provided.
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SECTION - A

Answer any S questions from 1 to 6. Each carries 1 score. Bx1=5%)

1. The period of population explosion in India
(@) 1951-1981 (b) 1901-1921

(c) 1921-1951 (d) 1981-2001

2. The language family to which Malayalam belongs.

3. The busiest airport in the Western region of India.
(a) Kolkata (b) Kochi

(¢) Mumbai (d) Chennai

4. Asia’s largest slum is located in India. Identify it.

5. Canal colonies in Indira Gandhi command area in Rajasthan is an example for
(a) Linear Settlement (b) Nucleated Settlement

(c) Planned Settlement (d) Circular Settlement

6.  The iron and steel plant located in Karnataka.
(a) Durgapur (b) Visweswaraiya
(¢) Bokaro (d) Dubari
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SECTION - A
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SECTION - B
Answer any 6 questions from 7 to 14. Each carries 2 scores. (6x2=12)

7. The concept of Neo-determinism (stop and go determinism) is very significant today.

Justify this statement.
8.  Distinguish between positive and negative growth of population.

9.  Kerala has witnessed natural disasters like landslide and flood frequently. Suggest
measures that can be adopted for the effective management of the hill slopes of

Western Ghats in Kerala.
10. Indo-Gangetic plain is one of the densely populated regions in India. Give reasons.

11. Complete the diagram showing the characteristics of Dairy Farming.

Highly
Capital Intensive

No offseason

12.  Write a note on Sugar industry in India.

13. One of the world’s single largest tertiary activity is tourism. Discuss the scope of

tourism with respect to tourist attractions in India.

14. Prepare a brief note on any one of the mineral belts in India.
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SECTION - B
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SECTION-C

Answer any 5 questions from 15 to 21. Each carries 3 scores.

List out the consequences of migration.

Define :
(1) Packet station
(ii) Positive balance of trade

(iii) Free trade

Why is irrigation necessary in India ?

(1) Name the state in India which ranks first in HDL

(il) Mention the reasons behind this achievement.

(5x 3 =15)

Waste disposal is one of the serious social issues today. Discuss three environmental

problems faced by the urban centers and suggest methods to overcome it.

The non-conventional energy sources will provide more sustained, eco-friendly cheaper

energy after the initial cost is taken care of. Give an account of any three non-

conventional energy sources.

Differentiate between Rural and Urban composition of population.

SY-37 6



15.

16.

17.

18.

19.

20.

21.

SECTION-C
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SECTION - D

Answer any 4 questions from 22 to 27. Each carries 4 scores. (4 x4=16)

22. Explain the demographic transition theory.

23. (i) What are the merits of water transport ?

(1) Name a National Waterway in India and write its terminals.

24. Classify the towns of India on the basis of dominant function with examples for each.

25. Match the following items in column ‘A’, with the most suitable items given in column

‘B’ and ‘C’.
A B C

(i) | Plantation Jhuming Resource pooling
agriculture

(i) | Mediterranean Denmark, Netherland, | Ashes increases the
agriculture Italy fertility of soil

(1i1) [ Co-operative West Africa, India, Sri | Highly specialised
farming Lanka commercial agriculture

(iv) | Slash and Burn Viticulture Introduced in European
agriculture colonies

26. The idea of Human Development is supported by the concepts of Equity, Sustainability,

Productivity and Empowerment. Write notes on each.

27. Discuss any four factors that determine the location of industries.
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SECTION-D
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SECTION - E
Answer any 1 question from 28 to 29. Carries 6 scores. (1x6=06)

28. Low productivity is one of the problems faced by Indian agriculture. Discuss in detail

the other problems.

29. Classify the industries on the basis of following hints and explain each :
J Size
e  Raw matenals
e  Products

e  Ownership

SECTION - F
Identify and mark the following on the given outline map of India : 6x1=6)
30. (a) Aland-locked portin Andhra Pradesh.
(b) A software technology park in Kerala.
(c) The leading producer of coffee in India.
(d) Alignite field in Tamil Nadu.
(e) The most densely populated state in India as per 2011 census.

() A cultural town in Punjab.
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SECTION - E
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SECTION - F
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